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The Italian influence on English started in the century.

A) sixteenth

B) fifteenth

C) seventeenth

D) fourteenth

Correct Answer :- A) sixteenth

'"The Whitsun Weddings' is a poem that is considered to be the best known work of .

A) Thom Gunn

B) Ted Hughes

C) Philip Larkin

D) Walter de la Marc

Correct Answer :- C) Philip Larkin



Alice Walker's 'The Color Purple' is an novel.

A) episodic
B) anti
C) involuted

D) epistolary

Correct Answer :- D) epistolary
'"The Red Badge of Courage' is a great war novel written by
A) Theodore Dreiser
B) Jack London
C) O. Henry

D) Stephen Crane

Correct Answer :- D) Stephen Crane

T.S. Eliot believed that the high watermark of English poetry was the
A) eighteenth

B) fifteenth

C) seventeenth
D) sixteenth

Correct Answer :- A) eighteenth

century.



T.S. Eliot formulated the concept of

A) impersonal theory of poetry
B) fancy
C) sweetness and light

D) secondary imagination

Correct Answer :- A) impersonal theory of poetry

Bronte put an intensity of passion and a frankness of description into the novel which were quite
new to the women's fiction of the time .

A) Anne
B) Emily
C) Susan
D) Charlotte

Correct Answer :- D) Charlotte



The Authorised Version of the Bible was published in

A) 1610
B) 1611
C) 1612

D) 1613

Correct Answer :- B) 1611

Salman Rushdie's Booker Prize winning novel was published in 1981.

A) Ground Beneath her feet
B) Fury
C) Midnight's Children

D) Shame
Correct Answer :- C) Midnight's Children



10 The Modern English period is often called the period of

11

A) added

B) lost

C) blurred

D) Weakened

Correct Answer :- B) lost

According to K.R.S. Iyengar
and rewarding of the lot.

A) Untouchable

B) Coolie

C) The Village

D) Morning Face

Correct Answer :- A) Untouchable

inflexions.

is the shortest of Mulk Raj Anand's novels and the most revealing



12 The first Indian novel written in English is Bankim Chandra Chatterjee's

A) Rajmohan's Wife
B) The Hindu Wife
C) Kadambari

D) Bianca

Correct Answer :- A) Rajmohan's Wife

13 The characteristics that indicate the 'Indo-Europeanness' of a language are its

A) Structure and vocabulary
B) Phrase-complexes

C) Prefixes and suffixes

D) Monosyllabic roots

Correct Answer :- A) Structure and vocabulary

14 Sounds that are produced when the vocal cords are spread apart are called

A) voiced

B) liquids



C) glides

D) Voiceless

Correct Answer :- D) Voiceless

15 The Education Commission 1964-66 has identified English as a Language.

A) World
B) Library
C) Major

D) Official
Correct Answer :- B) Library

16 Matthew Arnold's personal poetry is steeped in the spirit of an era of transition.

A) unsteady
B) melancholy
C) moral

D) Optimistic

Correct Answer :- B) melancholy



17

18

The study of the Universe on a grand scale is called
ruehgsemsLl upp Quflw Syerefled Lig i)

A) Cosmology

& mev GLomevred)
B) Stratology

L G GLmavmed)
C) Cosmicology

&mavL8)g s mevmel)
D) Unilogy

wjeflevngd)

Correct Answer :- A) Cosmology

National Forest Policy was revised in

CsPw srser Csmerens HBHSSLILIL L ewT1(h)

A) 1988
1988
B) 1978
1978
C) 1998
1998
D) 2000
2000

Correct Answer :- A) 1988

Gl



19 Which of the following is an example for marine species of fish :

BLHEFHETL_ D DIGT 615 HL_6O LT QUNBSH@5S S G THSHISHTL L TGLD 7

A) Kee
g

B) Hilsa
Qe FT

C) Tor
GLmg

D) Vacha

CUMTFFIT

Correct Answer :- B) Hilsa

20 Laterite soil is found in

G L ewgL’ LoessT SaewTLiLI(heUg) :

A) West Bengal
Gop@ umisTarLd

B) Tamil Nadu
SOHBTH

C) Punjab
Li@hEL

D) Andaman

<9 [h& LD TGIT

Correct Answer :- A) West Bengal



21 Alluvial soils are particularly well-adapted to irrigation by :

QUGSTL_GV LDGIT FHGVLILDTS $65% aUSHIs O\FTaT@HLD BILILITFGT (LG W TGS ©

A) Canals
HTGVTUIH T
B) Wells
G) 6T S GIT
C) Lakes
erflg T
D) Bore wells
PSP Hlewpisar

Correct Answer :- A) Canals

22 According to the Sixth Five Year Plan, the people living below poverty line was :
DTG @BFTesT(h) P L 5G 60, aunieniodsCHTL 19 D@ SLp UTUHLD LDSSHET :

A) 46%
46%
B) 51%
51%
C) 38%
38%
D) 27%
27%
Correct Answer :- A) 46%



23 The basic objective of the Fifth Five Year Plan was :

24

DESTLD @BSTTH S LSBT (LpSFW igLitienl CBISEEHLOTRTS

A) Removal of poverty
e GiEse
B) Solving climatic change
STV BV LAPDSFH TV CHTRIMILD L TFFeHGTHEH AT %6 6T GO
C) Social justice
Feps b9
D) Afforestation
FHT(BHFHEHGT UGTISHSGV
Correct Answer :- A) Removal of poverty

Which of the following statement is related to Third Five Year Plan ?
BLHEFHETL_ D IGT 615 CLPGTDTLD @BSTT(R) P L SHDH G CFTL_fLjenL_wig ?

A) Agriculture production raised
Savenrasrenio o PLSHeW 2 WiEDLs)
B) More dams constructed
DG ®TSHEL (HFHGT SL LG Ui
C) The production of electronic goods
Wargny QunapLl sefler o PLSS
D) The Indian economy faced many difficulties

@pPwL Qumerngmgd LOGeupy QS5 HSemar 61HF0)% TesTL_ )

Correct Answer :- D) The Indian economy faced many difficulties



25 The First Five Year Plan had a target of increase in national income.
BLHSFHETL_UDMIGT 6T5S5 ST FSANFFLD BIL(H) U(BHLOTTISHEDS (LpF6eV DBSTT(H HL L_FH60 2 W TS5 %
eI GPI%CHTemens 6lamewniiy BHSH !

A) 11%
11%
B) 13%
13%
C) 5%
5%
D) 19%
19%

Correct Answer :- A) 11%

26  After independence, the Government of India set up the Planning Commission in .
QrPw F3EPIEHDS LD G, QBIW u5 G HLblapewar Blpialug :

A) 1960
1960
B) 1951
1951
C) 1953
1953
D) 1950
1950

Correct Answer :- D) 1950



27 Developed in 1955, the

28

formed the basis of the Second Five Year Plan in India.
@pFwrailed @uewr_mibd @psTe(h) HL L FSHDG 1955 —@)ed o Beunrsdsri L

O LILIGHL_ WIS
SO BSG-

A) One sector model
R Slowp IG
B) Two sector model
Q@ siwp B
C) Three sector model
eIl Siewp DTG
D) Four sector model
BT ieop DTG
Correct Answer :- D) Four sector model
Under the system the land may be held in single independent holdings.
papuled Blerets) @ saflLiuL L aiflar o L awwrs @)sELb.

A) Zamindari Tenure
oSersmf Blev o fleoLp
B) Mahalwari Tenure
Loap el Blev o feLo
C) Ryotwari Tenure
JwgguTd Blev 2 flewLo
D) None of the above
Gopgmplu 61310/ Bledenew

Correct Answer :- C) Ryotwari Tenure



29 of land is called as medium holdings.

garailevrest Blevd BHSST Blev 2 eWL_GLD TRTNI HeDLPSHHLILI(BLD.

A) 1to 10 Hectare
1 wpsed 10 QansL g
B) 2 to 10 Hectare
2 wsa 10 Qang_j
C) 3 to 10 Hectare
3 wsa 10 Qang_j
D) 4 to 10 Hectare
4 wpsed 10 Qans_g
Correct Answer :- D) 4 to 10 Hectare

30 The proceeds from disinvestment of public sector units was kept in

Oz geop BlmeueTsEeledBhs (LFSeO® G®DLLIGTT HeoL_GsL QLD 6uheuTeDWw

Q)0 eUsHLILIBFDSI.

A) Sinking Fund
PG B5)

B) National Relief Fund
Cafw plaimgess 515)

C) Consolidated Fund
Cs1g B

D) National Investment Fund
Caduw 138G B

Correct Answer :- D) National Investment Fund



31 The task of national income estimate has been assigned to

Cs@w eupeuTenw Fes1s% HILD Licstenw UFLD RLILIGHL SSLILIL (HGTTS.

A) Central statistical organisation
G w Yeref afleur BlmieueTLd
B) Reserve Bank of India
QESW Asdal aumi
C) National sample survey office

CasPw B 6016 0)%BHLIL 2 IGSLD

D) Finance Ministry

BB e LDFFHLD

Correct Answer :- A) Central statistical organisation

32 The year is called as the year of "Great Divide" as the growth rate of population after this has

been very sharp.

w&&a6r OFTens QLIBGL) afFLd LOFYLD Y SLOTTS TV gpemrenL ' ClLpLd LIaTey' 96T 66T
9 ps5&H G Lb.

A) 1921
1921
B) 1951
1951
C) 1990
1990
D) 2011

2011

Correct Answer :- A) 1921



33
was launched in April 1999 after restructuring of the Integrated Rural Development Program.

RBBIHwTHS 2075 GodLml" B S L Gewg wpsL L ewssLiul’ L 19pa@ eLiged 1999 —eb
SIQUBISLILIL L .

A) The National Rural Employment Guarantee Scheme
Csfw a1y GouemeveumuiLiL) @ FHIounss L L 1d
B) Swarna Jayanti Gram Swarozgar Yojana
aveugent Glewr® Horw aveuGures Guimggestm
© Nehru Rozgar Yojana
GCrmp Comavsi Gumgoesm
D) Annapurna
<9 GUTGYTL Y GWoT T

Correct Answer :- B) Swarna Jayanti Gram Swarozgar Yojana

34 is a non-conventional source of Energy.

GTGTLIG] LDTL| FITIT MMGVSHTET 4% TTLDTGLD.

A) Oil and gas
eTesTOlewsTul LopmILD 6T 6umuy
B) Coal and Lignite
Blevasfl LoPpmILD LApLIL Blevssl
C) Tidal power
S/ DD
D) Electric power
LO)GeTGsTITm M )

Correct Answer :- C) Tidal power



35 Operation Blackboard means to build up Infrastructural facilities in the field of

SHLOLIVEDS QFWB L L LoT6wTg) 26T L L_6WIDLIL] QUFHFENGT GHLOLILISHEHTET L L_LDTGLD.
A) Elementary Education
Os1L_5% sa0a)
B) Secondary Education
Q@ewL_Bleoews seval
C) Higher Education
2 wiklewawsd He0ad
D) All the above
Guopm B Srev a5t

Correct Answer :- A) Elementary Education

36  National Illness Assistance Fund is now called as

CsPw Crmumery B% 2 ol G 1L_1b H56LTLpS TGS YD LPSHHLILIBF D).

A) Sarva Siksha Abiyan
Fieu Fgy 9L9wimest
B) Rashtriya Arokya Nidhi
grepl’ fu ,Grrsw p1g
C) Indira Awas Yojana
@B or g eured Guimggett
D) Pradhan Mantri Grama Sadhak Yojana.
osner wpsf Gomo s1ss% Guimeyesm

Correct Answer :- B) Rashtriya Arokya Nidhi



37  Name the Governor General who removed restrictions imposed on the Indian Press :

38

@BFw LS RSSUGT LB aNFSSLILIL L FemL_emw BSGwW sHeuiets Glegerred OLiwy eresrer ?

A) Warren Hastings
aurgest Gamavig mied
B) Wellesley
Gaaaaval)
C) Metcalfe
QoL smyLi
D) Bentinck
OLiesTig mi
Correct Answer :- C) Metcalfe

In which place, Kattabomman was hanged to death ?
6% QL $FH HL L ClumbLoet gra&ed i’ L mg?

A) Coimbatore
Camwpsgni

B) Sivaganga
Pousmiens

C) Kayattar
FWSS T

D) Dindigul

Bewr () Es e

Correct Answer :- C) Kayattar



39 In Tamil Nadu, who was the first individual Satyagrahi to court arrest ?

SLUOPBHTL 196D, (LpSedled s Test SasfipLT FSFWTHTE wrg ?

A) T. Prakasam
T. Opsrewd
B) Dr. T.S.S. Rajan
Dr. T.S.S. grggeir
C) K. Kamaraj
K. smwogmgd
D) Rajaji
regnes]
Correct Answer :- B) Dr. T.S.S. Rajan

40 Which Article of the Constitution prescribes the duties of the Comptroller and Auditor - General of India ?

TP uainLilfe TES I wpamn QEDL S SaTEGE SeflEmauTaTiar &L aLosamar
CLINMIOIBE /YT
A) Article 146
@ pemm 146
B) Article 147
oS wpeom 147
C) Article 148
aBwpeom 148
D) Article 149
a@pemm 149

Correct Answer :- D) Article 149



41 Which is the lowest ladder of the Panchayat Raj ?

LIGHFTWSS| TTL) —GST HeOL_BleOev HYeOLoLIL] 6T !

A) Gram Sabha
S\grw FeoL

B) Nyaya Panchayat
Duinu Lgsemuss)

C) Gram Samiti
Fgrw FL0S)

D) Zilla Parishad
ablevevr Liflays

Correct Answer :- A) Gram Sabha

42 The formation of the Council of Ministers starts with the appointment of :

Y LEFFT® eSS LILIRL Cung wiedLw BlwwerdCsr® Osm_mi@GLd ?

A) The President
G WIFH BT
B) The Vice-President
SIGRT G L4 WIS SO e
C) The Speaker
FUITHTWSF
D) The Prime Minister
Krgw wpG)H

Correct Answer :- D) The Prime Minister



43 In which year University Grants Commission was set up ?

TS 9T (B LIS VSELPE DTS G (Lp HeLoSSLILIL L &) !

A) 1953
1953
B) 1965
1965
C) 1950
1950
D) 1964
1964

Correct Answer :- D) 1964

44 In which year the Suppression of Immoral Traffic in Women and Girls Act, (SITA) was passed ?
QuestaearuyLd, ApiLllsearud $a51s aufluiled Cl&me(® CFees @BHSGLD FLL LD 6ThS 2),6wT(H
Bleom Coupmprivi g (SITA) ?

A) 1956
1956
B) 1966
1966
C) 1971
1971
D) 1961
1961

Correct Answer :- A) 1956



45

46

In which year, Payment of Wages Act was passed ?
TS esT(h) carGlwih OlFaysgid FL'L b BlewpCoupprivi’t g ?

A) 1936
1936
B) 1938
1938
C) 1930
1930
D) 1935
1935

Correct Answer :- A) 1936

Who wrote the book 'India Wins Freedom' ?
'QBIWT HSEH L CeuaIing 1D HIeO6 6T(LpBweus wmg ?

A) Nehru
G
B) Maulana Abul Kalam Azad

QLoaTeTeTT BJLeD HEVTLD YFTS
C) B.G. Tilak

B.G. @evsi
D) Sardar Patel

Fogmy Ll GL_ed

Correct Answer :- B) Maulana Abul Kalam Azad



47 Who wrote the famous Sanskrit drama 'Mathavilasa Prahasanam' ?

48

'wggallevns gansed e1en LSHOLPD FLOGVE(BS BTL_ SIS eT(LSWeUF wrg ?

A) Mahendra Varman I
wCspS T auioer - |
B) Narasimha Varman I
BIFbb@IFIneT - 1
C) Paramesvara Varman
LgQGLoeveu g i FLo6sT
D) Simha Vishnu
ALHLD @l eje)

Correct Answer :- A) Mahendra Varman I

Under whose headmanship, the Salt Satyagraha took place at Chennai ?

GgarenaTuiled WThenL_ W $emaenoulled 2 LiL] FERWIHgsLd e Li0Lpmg 7

A) Rajaji
Qe el
B) Satyamurthy
FSBWAPTSH)
C) T. Prakasam
T. Qosnewd
D) Dr. Natarajan

Dr. pL_grggesr

Correct Answer :- C) T. Prakasam



49

50

In which year was the Treaty of Madras signed ?

6ThS TR Ol gred o L 6Ly Sens %0l (pSsTears !

A) 1769
1769
B) 1768
1768
C) 1770
1770
D) 1772
1772

Correct Answer :- A) 1769

Who established the Ramakrishna Math ?
gL &) (h6kewT LoL_Fe Blmjeafwerd wmg ?

A) Annie Besant
9/ 637657 Q) LIFGOTL

B) Swamy Dayanand
FQUMLE SUITTBS T

C) Swamy Vivekananda
Faumf) ol Gousmerpsm

D) Swamy Ramakrishna

FUmL) grLo &) (e cuery

Correct Answer :- C) Swamy Vivekananda



51 Who designed the head wear for Madras Regiment Sepoys ?

O’ graw GlredlGloarL’ HLILIMTLISEESE SeVLILITESE W ULYIGHLOSSe T WiTh ?

A) Sir John Cradock
i et HCrL_ns
B) Adjutant General Agnew
<L ggvL_aii Glggestgey oetluy
C) Col. Gillespie
STV HevevavLd
D) Lt. Col. Malcolm
CawLig ORI HJ6IT LDTSHLD

Correct Answer :- B) Adjutant General Agnew

52" In which year Central Vigilance Commission was set up ?

6ThS 9eT(R) LOFH W 9 ud aNPILILjewsIiey SyeneTwid Blnieulisi’t g ?

A) 1964
1964
B) 1979
1979
C) 1955
1955
D) 1997
1997

Correct Answer :- A) 1964



53

54

Which was the famous Musical Inscription of Early South India ?

upmste Osear @QBFHwralar LYsHeluPD @)ewFs sevblai’ B e1g ?

A) Tiruvidaimarudur Inscription

Sl INGE PRIIOLIMC)

B) Kudumiyanmalai Inscription

@OLIwTeTe e H6O6euL (R

C) Kanyakumari Inscription
Ferestlw g @ f He00leuL” (B
D) Mangulam Inscription
Lo GevLd $e00euL (B
Correct Answer :- B) Kudumiyanmalai Inscription

Who was the Revenue Minister during Rajaji's first Regime ?
g1 meufletr (LhS e YL PESTVSH WTH UHUTL FIGWD HOLOFFITS (Q)(hBFSeud 7

A) R. Shunmugham Chetty
R. sasrpsLh Qs iy
B) T. Prakasam
T. Opsrewd
C) O.P. Ramaswami Reddiar
O.P. prwogeumd QuL’iquimg
D) K. Kamaraj

K. smogmgd

Correct Answer :- B) T. Prakasam



55 In which year, the Hindu Marriage (Tamil Nadu Amendment) Act granted legal sanction to Self Respect

Marriage ?

6165 2B @) b3 F(HLoast (SLOHBTEH HBhSSLD) FL L 1D FwioHwnens HHLOGTEIS @5 G FL L Y BIGHTILD
aupEIH WG ?

A) 1967
1967
B) 1960
1960
C) 1971
1971
D) 1958
1958

Correct Answer :- A) 1967

56 Who was not trained in terrorist tactics in London ?
@ euper wes_asfled allgeuns wa® LudpFenw Cuprgeud wrg ?

A) V.V.S. Iyer
V.V.S. sowg

B) T.S.S. Rajan
T.S.S. grggar

C) M.P.T. Acharya
M.P.T. gy dgmjunr

D) Vanchinathan
QU TGH T b TSH 60T

Correct Answer :- D) Vanchinathan



Sunday Activities of students
Scale 1 unit = 2 students

£

Number of students
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From the above Bar graph, the total number of students who follow either
reading stories or reading their subjects is.

LD TGmT el T el i
@mApm&dlpen o
. Qeweur@ser
E 104 =@ey 1 welll - 2 oresreuiser
il
E g S S T -
- R e ey &
B Pl Tl
1z |
E
2 6o T R
K & i
¢85 3
5 5 8 8 8 g
® J = 2988 3.3
8 = g BE & B
& g T e B +H3L Eu L
=] G g J
73 g

CUMSTEYID UL 6L eUOJUL HHEON(BHE] HOHHHMETEILIT 6LEVG)
LML Mi&enenGILIT Ulg LILIeUT&ET60T GILDITES & 6T6u01600TI 561 SHILITE0TS) :

A) 8
8
B) 7
7
C) 6
6
D) 12
12

Correct Answer :- D) 12



What picture comes in the following 2

SO,

QaTEGHILL L Q&TL§l6b 2B &SI 61(IHLD LIL§60)& SHIT6H01s :
XO X, s

A)

B)

C)

/N
/N
N
N

D)

Correct Answer :- A) :



59 Ifx:y=3:4, then (4x + 5y): (5x - 2y) is :
x:y=3:4 aafled (4x + 5y) : (5x - 2y)

A) 132
7

(%]
~| &3

B)

[0
n

Pt
|m “‘“’|

0

Ll

Ll

D)

.
il IO I % RN NG TR N T

.

32

7

Correct Answer :- A)



60
Il

10cm
The area of the shaded region in the square of side 10 cm in the above
diagram is :

10cm

(I USsLD 10 Cla.Lb 66y Qameoi GG 2 616 &I 6llge) LIL &&Hled
HILpEOILLILILC L @GS0 LNLILIGTEUTs0TE)| -

A) 21.43 cm? (appro)

21.43 @182 (Gsmymuios)
B) 23.43 cm? (appro)

23.43 Q5182 (@smymuions)
C) 20.34 cm? (appro)

20.34 G5.182 (@smymuions)
D) 22.34 cm? (appro)

22.34 @.18.2 (Gsmymuiors)

Correct Answer :- *



61

62

The chemical substance contains a mixture of alcohol and water is 4 : 3. If 5 litres of water is added to the
mixture, the ratio becomes 4 : 5. The quantity of alcohol in the given mixture is :

R CauBswemauiled gy asanTe LHMILD Setesiy 4 : 3 e1ain afss% 2 artarg). 9FS Sveauuied 5 Sl L F
sesstents CFISH M6 b Fweneu 4: 5 6TaID iSSPV @) (hdGLD. HedL_GHL OLDHD Heven e uiled
2, GVH D TGO)GST LIMBI% TGS

A) 9 litres
99 L g
B) 10% litres
10%2 &)1
C) 9% litres
9% S 1L
D) 10 litres
10 Q9 g

Correct Answer :- D) 10 litres

The volume of a cylindrical water tank is 1.078 x 10° litres. If the diameter of the tank is 7 m, find its
height.

1.078 x 10° 9" g Qamerererayibd, 7 18 eI’ L_wpid Qamesii_ o mevereurgar Fi56CSTL 19 16T 2 WIS w55
HTCHTS

A) 27 m
27 8
B) 26 m
26 18
C) 29 m
29 .8
D) 28 m
28 18

Correct Answer :- D) 28 m



63 The volume of a solid right circular cone is 11,088 cm?. If its height is 24 cm, then find the radius of the
cone.

11,088 Qs.18° Qanerarerey wpmih 24 Q.18 o wigupid Qsmesr_ Heswio Gpiail L o meveruleT o rsmss
&ITGHITS .
A) 20 cm
20 Q.18
B) 22 cm
22 Q.18
C) 2l cm
21 Qg.18
D) 19 cm
19 Q.18

Correct Answer :- C) 21 cm

64 The time taken for an amount of Rs. 450 to yield Rs. 81 as interest at 4.5% per annum of simple interest is :
4.5% aur'1y @933 ep. 450 —5@ seflour gulled ep. 81 Few L LILISDS TGS 6 (HLBISET :

A) 4 years

4 cuqpLmiser
B) 4% years

4% eau@pL_miser
C) 4V years

4Ys eu@pL_miser
D) 3': years

3% eu@pL_migaeir

Correct Answer :- A) 4 years



65  The number of possibilities of different towers that can be built four blocks high using two red and two blue
blocks is :

@ uett(h) FauLiLy Ppnid QIessT(H) Hov eUeTeRTEI% el 2 aTar L 0L _senaT @&IBle Goed &TDIS 2 (H%%)
FewL_GsLI0ILIDILD BTG SeTdh SL L L BIGET :

A) 6
6
B) 5
5
C) 4
4
D) 7
7

Correct Answer :- A) 6

66 A water heater uses 3 units of electricity in 40 minutes. The units consumed in 2 hours are :
@b sesstassts @&GLpm) 40 Bl misafled 3 o Gaer LAGEIFTIS®S L LWL (BRSSP DG e1eiled 2 Locuwf]
Crus&ed LWETLRSSLILIBLD LOGTFTT 6V &HEHaT :

A) 8 units

8 Yyv@Gsar
B) 10 units

10 <jev@sar
C) 9 units

9 YvGsar
D) 11 units

11 oev@sar

Correct Answer :- C) 9 units



67 2 ladies and 3 gents can do a piece of work in 10 days while 3 ladies and 2 gents can do the same work in 8
days. The number of days 2 ladies and 1 gent can do the work.

2 Quessser, 3 gy ersar Caing e Couamevenw 10 prsefled 1pyss wpiguyd. 9G% Ceauemevenw 3
Ouessar, 2 gy eser Caing 8 prsefled (1p1gss wpiyujd erefled, 2 Qluessepd. 1 gyamid CFipg <Bs
Gouemevenws (LpLg&@GLD BT FHaT :
A) 13 days
13 prsar
B) 14 days
14 o sar
C) 12' days
12°2 i sair
D) 13’4 days

132 prsar
Correct Answer :- C) 12} days

68  The C.I. on Rs. 20,480 at 6%4% per annum for 2 years for 73 days is :
e. 20,480 —5@ 674 % w1y afFsEF e 2 au@pLmiger 13 B s@hsSHTT Fnl (B UL L9 WITCSTF :

A) Rs. 10,213.20
e. 10,213.20
B) Rs. 2929
5. 2929
C) Rs. 12,000
er. 12,000
D) Rs. 11,500
e, 11,500

Correct Answer :- B) Rs. 2929



69

An invitation is made up of 3 folders which is in the given diagram. Find the area.

16 cm

5cm

dcm 8cm 8cm

@@ 3 Wigl SmPUTIHHD SILenLIUT6Tg UL &L 2 emeneumm)
166 HENETS CISHT6ouT(H6ITEN ). 216601 LITLILITEUT60TS) :

16 Qa8

"'3/
ég' I I I
Ly

8 Qg5 8 @s..0 B GEs.B8

A) 297 cm?
297 Q#.18.
B) 300 cm?
300 Qg.18.2
C) 296 cm?
296 Q.18
D) 301 cm?
301 Q.82

Correct Answer :- C) 296 cm?



70 P =Rs. 8000, R = 5% and n = 3 years then the difference between simple interest and compound interest is

P = o5 8000, R = 5% wpmpis n =3 gy en@sar erefled geasflour’ g wopmitd gL B UL 19S5 M6 aiSH W TFLD

A) Rs. 60
e. 60
B) Rs. 70
em. 70
C) Rs. 61
em. 61
D) Rs. 89
e5. 89

Correct Answer :- C) Rs. 61

71 The LCM of 0.63, 1.05 and 2.1 is :
88102 0.63, 1.05 opms 2.1

A) 6.2
6.2
B) 6.3
6.3
C) 6.4
6.4
D) 6.1
6.1

Correct Answer :- B) 6.3



72

If

P,

B)

0

D)

P
Q
=?’ag."ra:n}'fl:;'ufﬂ

P-Q

AW s s

L | | |k o | L

[ .

4

Correct Answer :- D) 3

=7/, then the value of 3

+Q .

IS 2



73

pz—Bp—4ﬂ

Simplify : s =
2p- -24p~- + 64p

DZ—BD—4D
2p° - 24p? + 64p

F(HSGH -

A) p-5
2p(p - 4]

p-5
2p(p - 4]

B) E¥ES
plp - 4]

ptd
plp - 4]

C) p1t3
2p(p - 4)

p+5
2p(p - 4)

D) o+ 5
2p(p + 4)

p+5
Zp(p + 4)

pt5
2p(p - 4)

Correct Answer :- C)



74 Share the amount Rs. 672 in the ratio 5 : 3.
e 672—g0 5 : 3 165t NFSSP e LBIGL (B LOBLILITGHF :

A) Rs. 352
em. 352
B) Rs. 252
e, 252
C) Rs. 254
e. 254
D) Rs. 312
em. 312

Correct Answer :- B) Rs. 252

75 A ground has dimensions 30 m x 19 m which includes a lobby on all of its sides. The dimensions of the
playing area is 27 m x 16 m. The area of the lobby is :

30 18X 19 18 ufwnemmIsEBe LW @ elamarur B3 Do, ST @SS/ LSFESNQILD T ar
Sy Egeag), afleanur®Ld LGSaster uflresisar 27 18X 16 18 eraflad, wmIuler LLiLere,
A) 148 m?
148 15
B) 135 m?
135 182
C) 136 m?
136 15
D) 138 m?
138 15

Correct Answer :- D) 138 m?



76 Find the area of the quadrilateral whose vertices, taken in order, are (-4, -2), (-3, -5), (3, -2) and (2, 3).

(-4, -2), (-3,-5), (3, -2) wpmib (2, 3) WP w Lerelsemar LpeopwTaHs C&TeSTL FIDSISH T LITLILIGTE 6US
HTCHTS

A) 27 sq.units
27 .9y

B) 28 sq.units
28 .9y

C) 29 sq.units
29 .9

D) 26 sq.units

26 .9

Correct Answer :- B) 28 sq.units

TT Ifx:y=2:1,then (x*-y?) : (x> +y?)is:
x:y=2:1aafed (x* -y : (x> +¥?)

A)2:4
2:4
B)1:4
1:4
C)3:5
3:5
D)3:4
3:4

Correct Answer :-C)3:5



78 The simple interest on a certain sum of money for 2 years at 12% per annum is Rs. 40 less than the simple
interest on the same sum for 3 years at 10% per annum. The sum is :

RB OFTewa5@ 272 augpLmsaied 12 % e’y aSsgFevrear seflou’ g Gz OFmewss@ 32 au@pLmisaie)
10%. eur’ 1y a99ssDevres sesflour’ geowsd srigepiid en. 40 Gewpey 9 GLd. YS0FTRSHWTRTS

A) Rs. 801
. 801
B) Rs. 782
. 782
C) Rs. 800
5. 800
D) Rs. 802
e 802

Correct Answer :- C) Rs. 800

; ; 2 ;
79 The simple interest on T 48,000 af 165% per annum for @ monthsis :

€. 68,000 -&(& 16 % % 6UL_1q e1115&&&l6L 9 LDTHMISHEHSHE &60TleUL g ILIT60TH) :

A) Rs. 8,500
5. 8,500
B) Rs. 6,500
5. 6,500
C) Rs. 7,500
. 7,500
D) Rs. 8,000
5. 8,000

Correct Answer :- A) Rs. 8,500



80

NS

The number of triangles in the above diagram are :

GLGev GClamHSSLIUL(DeiTern UL &5le0, (L &G SITEU0T I S 61Tl 60T
6T60UT600TI 6N ILIT60TH) -

A) 35
35
B) 33
33
C) 32
32
D) 34
34

Correct Answer :- C) 32



81

82

The performance test of intelligence for hearing impaired children is :

Cuds GDUTH® LW &LpBeSS@hdHsTesT OlFwedLpeom miesTenipe) Gsiamears) :

A) Pinter patterson scale of Intelligence
eor_g Liml L ggeer miestentmley oeareyGssmed
B) Pearson scale of Intelligence
Ywiger pestentla) 2jareyGsmed
C) Jalota's test of General mental ability
Qg e Fpestipsmet @G refler GFrgemer
D) Patel's test of Intelligence

L GL_ed mrewrespley CFrgen st

Correct Answer :- A) Pinter patterson scale of Intelligence

Intelligence is a composite of many abilities according to :

[BIGSSTGSSTII 6 GTGTLIG LIGY B GT%H oG Fol” () 6768 2 OITSS UL :

A) Thorndike
SieTen L&

B) Guildford
DedGLUTI®

C) Alfred Binet
oG e

D) Adler

<L i

Correct Answer :- C) Alfred Binet



83 The psychologist Carl Rogers is a specialist in :

84

Hmiev Cragyied euedeVIBITS HIessTLILI(HeU

A) Non-Directive Counselling
SFTEBILILIHSSILD P eedT LISTSHV
B) Directive Counselling
CEPILILGSSILD IyPajeT LSiSe
C) Eclectic counselling
QungiBleve omlajenr LISTI%e
D) Vocational Guidance
Oz mfled euflam LD

Correct Answer :- A) Non-Directive Counselling

"Mental Health is a desirable behaviours seen at a certain age among people" is the definition given by :

"werpevld eTaTLg @i GO L auw@eried QupLouTCGevrilen Guw sreLiL®L aBLOLISSSS bL GG
TG e TWemDUIenesT OFTHSSaUT
A) Craig
EIOLINE:
B) Adler
9L i
C) Skinner
D) Gardener

SIFL 6T

Correct Answer :- A) Craig



85 The class of humans into introverts and extroverts according to their personality is done by :

L&SABFH® T 9 FHLPFSGT LPMILD LIDLPFHFET TN Y @5ewLo 19 LiLienl_uled L9fFFaur

A) Carl Jung
BTFD 2O6VTS

B) Sheldon
GlayeL_er

C) Adler
Lo

D) Guildford
KeOCumi®

Correct Answer :- A) Carl Jung

86  The development of personality starts in mother's womb is a view of :

smfler smauempuiled gy,@penio CHTRTIS DS 6T D 6TEwTERIWLIG T :

A) Murray
wpiGo

B) Rorschack
Gumevens

C) Rank
IG5

D) Freud

Sgmuil”

Correct Answer :- C) Rank



87  The method to study both normal and abnormal personality is :

88

FISTICRT LOPHMILD FTSTTCRT 2, @He0LOUNGGST LIBM) SPGLD (Lpewm !

A) Interview method
Grismented (Lpewm

B) Questionaire method
aflermiiL’ 19 wed (Lpewm

C) Case history method
S@NBLT QITOTD] (LD

D) Performance method

CFwPmer (LpeoD

Correct Answer :- C) Case history method

Rewards and punishments are :

LIf&SGT LDHMILD FGOTL_GNGITEHGT GTGITLIG]

A) Intrinsic motives
9% 2FF)% 6T

B) External motives
LD 2018 F)% 6T

C) Token motives
OW L_WITAT 2615 %)% 6T

D) Material Motives

CuTheT 2018 %) F 6T

Correct Answer :- B) External motives



89  The formation of a new stimulus response happens in :
RB LBW FITL_O — FIVBIFHeD OSTLFL] TPLIBeUG :

A) Formal Learning
LoD FTIBES FHDH6D
B) Classical conditioning
5% Bl DISSH 6
C) Imitation Learning
RBeud OFuieugy CGumed ClFuig FpmeD
D) Trial and Error Learning
(LPWETH SIS HDM6D
Correct Answer :- B) Classical conditioning

90  Creativity is very often associated with :

LG L_LILITPDeO B&SLons ClGTL_JLLRSSLILIB UG

A) Giftedness
iy

B) Intelligence
Bl P6

C) Skills
Sl

D) Interest

< 0QULD

Correct Answer :- A) Giftedness



91  The interest schedule to measure science, biology, language and managment was constructed by :

g Mlaflwed, 2 udfwed, G wpmid Goeressenrs CLTETD DD 9y ieusHenest oG LILNL_
L L auenenTuilenaT 2 (heunsEHwals

A) Thurstone
Sl 6T

B) Esyenk
eTe)6o1S

C) Pavlov

umeGevmal

D) Pressey
190 gavend

Correct Answer :- A) Thurstone

92 The admiration of literature and fine arts happens with :

QWEH WS FDST LOPDILD FISTH®VEHAT Q) TFSHNI% G Flewent CLiTegy

A) Development
parGarpmLd
B) Emotions
LeT0)6u (LpFF)
C) Interest
< 0QILD
D) maturity
W Biisf

Correct Answer :- B) Emotions



93 Foetal stage refers to :
H(HIGIT (LS @ L BIeHGV 6TGST e LpSHSHLILI(H UG

A) First 2 weeks of pregnancy
FHAYDD (LS Q) TesT() 6UTIBI%HGT
B) 6 to 8 weeks of pregnancy
FBRIDD A LPFE0 6TL-(B) QTTEIS 6T
C) 2 to 8 weeks of pregnancy
FBYDD Q) TeST(h (LS 6TL (B GUTTBI%GT
D) Nine weeks of pregnancy till birth
SGBAYDD RRTLIF QUTILD (LpSed LIDLIL) QuenT

Correct Answer :- D) Nine weeks of pregnancy till birth

94 The right of children to free and compulsory education Act, 2009 was amended on .
GBS SN 2 flenLpssest, (Q)eveud PmILd L L Tws sevad FLr 1d, 2009 pgsLiu’ L oy esr®

A) 2019
2019
B) 2017
2017
C) 2015
2015
D) 2013
2013

Correct Answer :- A) 2019



95

96

The Gurukulas were situated in :

GBSGGLD GOLDBFHATAT Q)L LD :

A) Centre of the city

BSHGET 69 LDISF 60
B) Isolated and lonely place

saflewiu®SSLLL L P $aflaowrer @)L Lb
C) Crowded localities

OpfFevmer Q)L misafe

D) Rural area
S gL mmIEene)

Correct Answer :- B) Isolated and lonely place

Story telling and story completion is the one of the kinds of

FWS FnMIS6 LODMILD H6DF (LP(LPELOWITHHLD CLITETD e 6 T R(5 S G LD.

A) Projective techniques
LT @ B

B) Rating Scale
ST B yereyCFHmed

C) Sociometric test
Fepsailwed CFrsenest

D) Case History
S6st BLIT QUTeVTM)

Correct Answer :- A) Projective techniques



97 The children who deviate from the norms and behave in anti-social manner are called as

Qpplperpsailed @)prgs allew®d ClFain Feps alGans penposeflcd L Bg C1ETATE@HLD &L BHeSH6T
D PSHHLILIBLD alFLd

A) Socially handicapped
seps sanan(Lpp Cpmi
B) Delinquents
Q@ erEIGBDD TS T
C) Mentally ill
estplenev FRuledevTsald
D) Slow Learners
Qogiouns spGumg

Correct Answer :- B)

98  Aggression, bullying, lying are the symptoms of a mentally ill child.
UGS TS GBSV, LATL (HG6D, QLT Fapisew CLTaTDene
GBS S @SS TGS W GDIWITGLD.

LOGSTBGULD LITHEHLILIL 1

A) Physical related
21 60 FIIBS
B) Behavioural deviation related
BLgws pLha) F1ips
C) Emotional related
LoT0)eU (LPFF) FTTBS
D) Cognitive related
<APle) F1iHS

Correct Answer :- B)



99 Who is related to individual psychology ?
sesflels o araweyl a1 OFmL_fLen_weud wrg ?

A) Freud
Qomui®
B) Carl Jung
Sried somi
C) Cattle
GaL L
D) Adler

<L i
Correct Answer :- D) Adler

100" Which one of these is not a chief characteristics of personality :

L9 e8T6U (156U GSTOU D DI T 4, @15 60 LD UG (Lo SGTGHLOLT LIGRTL| 615 eV6V !

A) Personality of each individual is unique
2@ 0THAIB® L H@LOLLD SETSIIAILDTETS
B) Personality is static
L EBELD Flen e TS
C) Personality is the product of both heredity and environment
2 @LD GTGLIGI LIMTLbLIAWLD LDDILD FHDIFG P T WelDBIGT 48s5LiCILINGT hGL.
D) Personality is self-consciousness

2L, @BENLD GTGTLIG] T2 _GRTI 6

Correct Answer :- B) Personality is static



101 ‘Which one of the following is not the teacher behaviour under stimulus variation ?

L9esT6u (B euGSToU D MIGT LIGDUNES HTGHTL_gVISHTeT YA RWT BL S QO THS Wigl !

A) Teacher movement
AAPws @1 tonspid
B) Change is speech pattern
Buds augugPed LoTBpLb
C) Teacher's friendly look
<G Hwhesr Camipewio LimTfeneu
D) Teacher gestures

2PN w AT enFen a6

Correct Answer :- C) Teacher's friendly look

102 The last stages of creative thinking ?

UL LILmwmed FpFeneruier senl& Blenev

A) Incubation
PUIay Fleve
B) Verification
FALITTSS e
C) Preparation
BSWMi$%e0
D) Imagination

&) LIGE GOT

Correct Answer :- B) Verification



103 'Who is considered as the father of intelligence test ?
BicsTeninleyd CFngenatuileT Spensd 6TeIm| H(hSLILIB LIGUT Wiy ?

A) Alfred Binet
DL eLGTL
B) Thurstone
S GLeir
C) J.P. Guilford
J.P. 8eCuUi®
D) Spearman
oV 9w gGroesr

Correct Answer :- A) Alfred Binet

104 ‘Which of the following is not the characteristics of democratic class room climate ?
L9 G316 (16U GSTOUD DI GT 6T SGTBTILS 6UGLILIGHD FLPEVISE TG LIGSIL| Q)e0enev !
A) The teacher tries to understand the child
A Awg rewreueny Lyfpg Osmarer Lpwpd ClFuise
B) The teacher is sympathetic
A Nwi uflejeo_wins @)Hs5H60
C) Students are grouped properly
LOTGRTRUFHGIT O LITBSSLOMS G (Lpeuns LNfFsLILIB gy
D) Students are grouped on administrative process

Blieuns QFwed LT 19 D&HMs resTeuisar & patns LNflasLiuBag)

Correct Answer :- D) Students are grouped on administrative process



105 Which of the following is the lowest level of thinking according to Bloom ?
Leah LOlGST LiLg LI6TeuU (heuaTeup 6T LA&s GempBs Fpsmaerenw gt Crrsssdmm wng ?

A) remembering
Bl a6 o560

B) understanding
yfpg Glsnarepse

C) evaluating
LI B S

D) creating

2 (H6UTH GGV

Correct Answer :- A) remembering

106 According to Buhler's studies the age in which most of the children "offer toys to other children" is

Yoo felr sBSSILiLILY, CLIGLLLTVIET GLpbamSSaT SEISEFmL W CILITLLEILOSET LBD GLYEDSSEFEE
Y eflE@GLD W .
A) 4 to 5 years
4 ws® 5 auwgy
B) 8to 9 years
8 Wz 9 auwg
C) 9to 10 years
9 waa 10 auwgy
D) 6 to 7 years
6 wse T arwg)

Correct Answer :- B) 8 to 9 years



107 According to Termann, a child of years can tell his name and knows about his sex.

Osdiorasr smppiiLg, 9o GpEmsuTes) WBad seirgienw QLT FmpayLd LPDIL
sar@imLw urallargeas UuppluLb PIBg Qsmaiar wpigujb.
A) 2 years

2 auwigy
B) 3 years

3 auwgy
C) 2' years

22 auwigy
D) 3’ years

3% auwgy
Correct Answer :- B) 3 years

108 Which year of age is considered as "eager year" ?

6TbS WD D TGS eST(H) Y TLOES Y ewTL 135 HHBLILIGS DI !

A) Ageof 5

5—1b euwigy
B) Ageof 6

6 —1b Wi
C) Ageof7

7 —1b auwigy
D) Age of 8

8 —1b euwigy

Correct Answer :- D) Age of 8



109 In which period, the rapid physical development occurs ?

6TBS FMTVGHL L FFV CausLoneT 2 L e aueTidd pevl OLmSaing ?

A) Early Childhood

(LpaT LIaTewarTL Li(heuLD
B) Later Childhood

L9681 LNeTenarLi LighauLd
C) Adolescence

GLOIL] LI(h&ULD
D) Infancy

GLp@ilLi LigbeILD

Correct Answer :- D) Infancy

110 Match the following :
Period of life Approximate age range
(n Pre natal period (a) 11 to 19 years of age
(2) Infancy (b) Birth to 2 years of age
(3) Adolescence (c) 20 to 29 yvears of age
(4) Adulthood (d) conception to birth

LT6T6L (I 6160T6UN 60 M CILIT (5 &1% :

QUMD &S LNFl6) &6iT G&MTMLILDITE0T 6LILIG| 61ITLDL|
(1) &(BLILIHELD (a) 11 (1pGH6L 19 6UILIG)| 66O
(2) @LAMILGHEID  (b) MU (LpHED 2 ILIG| 66D
(3) (GLOLILI(TH 6LD (c) 20 (LP&6D 29 6UILIG)] 616N
(4) (&I Li(HeuLh (d) MLILIGSHITE0T &(TF 6UTHEHLD

A) (1)-(d); (2)-(b); (3)-(a); (4)-(c)
(D-(d); (2)-(b); (3)-(a); (H)-(c)
B) (1)-(d);(2)-(a); (3)-(b); (4)-(c)
(D-(d);(2)-(a); (3)-(b); (4)-(c)
C) (D-(2); (2)-(b); (3)-(0); (H-(d)
(D-(a); (2)-(b); (3)-(c); (4)-(d)



D) (1)-(b); (2)-(a); (3)-(¢); (H-(d)
(1)-(b); (2)-(a); (3)-(c); (4)-(d)

Correct Answer :- A) (1)-(d); (2)-(b); (3)-(a); (4)-(c)

111 The quantum numbers required to explain spectral line splitting are

Blowremev auflens LfalleneT aileufla@Ld @ euTesTL LD 6T68T%H 6T

A) Principal quantum number
(LPSTEHLD (&6 TGSHTL_LD GTGSTHGT
B) Magnetic orbit and magnetic spin quantum numbers
SMBS FHMILITENS LOHMILD HTbS FLPG &6 TCRTL_LD GTCHTSH T
C) Angular momentum quantum number
CaHTewT 2 5% &6UTEHTL LD 6TGHTSGIT
D) Coupling numbers

L960GSTLILY 6TGTSH GIT

Correct Answer :- B) Magnetic orbit and magnetic spin quantum numbers

112 Work done during isothermal expansion is

Isothermal afflounrssgSear CGung apL@Ld Coueoww mears).

A) w=Pd
w=Pd
B) w=Pv
w=Pv

V.
w=Rrlogio—=
i

V.
w=Rrlogyg—=
T10Gho v,

D) w=Pdv
w=Pdv

V.
w=Rrlogjg—=
Correct Answer :- C) !



113 Entropy of a substance is defined as :
6163119 Grmid) — ouewgwimy.

A) measure of degree of disorder of its molecules
AP VS In DI F NG FTDHDH FGTEHLOGHW QUGHTWIDIHGLD ST
B) measure of degree of order of its molecule
PGV T M F AN GT FTTGT FSTEHLOEHW UGHTUIMISHGLD 9 OT6]
C) measure of degree of no. of molecules
ELP GV T )] 5 GYT] GBT GTGHIT G115 GHF W I 61 G T M L1L I
D) measure of the size of molecules

ELP GV T )] 5 G GBT 9 AT GST GUIGH T W LTLIG)

Correct Answer :- A) measure of degree of disorder of its molecules

114 In conductors there is a large number of electrons.

SL_GFUINV GTITeTLD 68T GTGUE L [TTGHT <2 GWILD (bS] GTGITGHT.

A) Bound

SLL_eOLDLILITGST

B) Free
Glauafal®

C) Slow

Glogjeumest

D) Fast

Geuss Lo et

Correct Answer :- B) Free



115 Choose the correct sentence from the following :

BLHSFHeTL_UD B0 FAWTET UTEFNISEDS FTesTS.

A) g=4mgl?
q=4mgl?
B) B=4nm/T?
B=4mm/T*
C) Every element of the beam is bent with the same radius of curvature in uniform bending
FL L GG eTodawT @)enips@pLd @G T yaraied euenarud Setenio FRw aienerey (Lpenmulled yenLoulLd
D) y=mgl?/2
y=mgl?/2

Correct Answer :- C) Every element of the beam is bent with the same radius of curvature in uniform
bending

116 The permeability of the Ferromagnetism 'u' is .
OuGrmngerigs CurmL seller o L @GS mer W'

A) ur=0
ur=0
B) ur<1
ur <1
C) ur=1
pur=1
D) ur>>1

pur >>1

Correct Answer :- D) ur>>1



117 " At constant pressure, the volume of a fixed mass of a gas is directly proportional to the absolute
temperature". What is the name of this Law ?

Blenewmest 9 (LpSFSH 0, GUILILIL L Blenpujent_w (5 6umwei6T 6T 96Te] F6T Sesf ClauLiLl Flevevs G
Gri afFs3H @Q)hEGL." QaialGuier Quwg wig ?

A) Boyle's Law
umufedler a9

B) Charles's Law
Frgevedler ol

C) Gay Lussac's Law
Gz arensHer ol

D) Dalton's Law
L_meOL_coflesr @)

Correct Answer :- B) Charles's Law

118 Which of the following is NOT a Lewis acid ?
esreupeuastoupmiar 618 eruilead yLflevid @)evemev ?

A) H!
H!
B) BF;
BF;
C) SiF,
SiF4
D) F
P

Correct Answer :- D) F-



119 The hydrocarbon obtained by the hydrolysis of Al4C; is :
AlCs -@ BompL@s@LOUng SevL_&@Ld eanL GrrsmyLiet :

A) Methane
185G

B) Acetylene
9 &1 19 &SesT

C) Allylene
<9/ GV 6B GV GO GOT

D) Propane

L GrmiGrLiesr

Correct Answer :- A) Methane

120 Sulphuric acid is commercially prepared by :

FeoLiyfa gyflewid auenflas FHuled @)bpenpuiled 2 PLISH CFUiwLILIBRH DI :

A) Contact process
QB MLL (Lpemw

B) Mond process
LOTGSTL. (LpeOD

C) Raschig's method
FTev§E Fer (Lpeom

D) Haber process
Ganuig wpewp

Correct Answer :- A) Contact process



121 Penicillin is an example for :

Qe eSar QF0& @b TBHSHSSTL L TGLD

A) Analgesic drug
ep&EE) Lo (BB
B) Antibiotic drug
TS5 2 1R BB
C) Anticancer drug
UDDICEI TBTLIL Lo GBS
D) Anaesthetic drug
LDWESAPL LY. LDBBSI

Correct Answer :- B) Antibiotic drug

122 The pH range of human blood is :
wefls @555 pH afda @iy :

A) 7.35 - 7.45
7.35-7.45
B) 7.01-7.10
7.01 -7.10
C) 6.41 -6.91
6.41-6.91
D) 5.55-5.85
5.55-5.85

Correct Answer :- A) 7.35 - 7.45



123 Which medium is used for culturing pollen and anther ?

6Tb% 261 LD LOGTBSLD LOPMILD LOSTHSELI UATILILISD G LIWGTLI RS D ?

A) White medium
QRuilL" 2a1_FLH

B) Nitsch's medium
Bl oy ser_&1H

C) Heller medium
Gamevevg gerl &L

D) MS medium

GTLOGTGN 26TL LD

Correct Answer :- B) Nitsch's medium

124 Hibiscus collinus belongs to Malvaceae used as :

wredGeued) @@HLLSD T GLpaumLd enanlavsead Caredlared Q)FPsTs LIWTLHF DI

A) Cloth yielding tree
SIS S5

B) Fibre yielding tree
BTG5S

C) Oil yielding tree
eTGRT0)GwTUIS

D) Ornamental tree

9P &BHHTH

Correct Answer :- D) Ornamental tree



125 The viability of protoplasts in a culture was assessed by the following methods :

Fa auariLitied yCur GrLmerts afflwgserenio yPlw Grpsases_ e1ps5 CFrgseersar LiweTLB S eTneT ?

A) Phenol safranin test
oo LfestTe) FrLigestleer Gamgen st
B) Direct visual test
Growy snemid Cargenast
C) Emans Blue Dye test
Qe pev Frw CFrgenest

D) Chemical method
CauG LI umpar wpeom

Correct Answer :- A) Phenol safranin test

126 Who isolated protoplasts using enzymes ?
Opr@saier epevrd LCum CLmerregens L9308 BsSeud wrg ?

A) E.C. cockling
E.C. sngafmi

B) P.R. White
PR. qui”

C) J.P. Nitsch
J.P. Bl &)

D) G. Melcher
G. Quablsg

Correct Answer :- A) E.C. cockling



127 Lutein belongs to which pigments ?
QL 19 GV 6T5% UGMS BIDLOeOW FTIbSS !

A) Chlorophyll
&CarrGrmooL9ed

B) Carotenoids
&CumLig ermui(®

C) Xanthophylls
Fmp G mo%Lil6D

D) Phycobilins
L1 GxmL9e0 et

Correct Answer :- C) Xanthophylls

128 ‘Where does Photorespiration takes place ?
@af FeunsLd 61w pevL_ QLS gy ?

A) Chloroplast, Mitochondria, Endoplasmic reticulum

&CarrGorifermev’, enio " GL_ngmewrflwm, eressrGLmilerns euenevLilfereTed

B) Chloroplasts, Mitochondria, Lysosomes
&CarrGorifermev’, enio” GL_ngmewr fHwm, ewevCFTGFTLOS 6T

C) Chloroplasts, Mitrochondria, Chromosomes
&CarmGomiiermevr’, ewio " GL_nemesstflwm, &CrmGomGFmLdser

D) Chloroplasts, Mitochondria, Peroxisomes

@CarrGumiermavr’, enio " Gr_mamewr’ fwm, G)igoysedCGaFmidsar

Correct Answer :- D) Chloroplasts, Mitochondria, Peroxisomes



129 The Reproductive capacity of the organism is called :
@5 2wl fuleT Q)eTLIO)LI(555S B DG 6TGILIgY :

A) Birth rate
oLy aISGLD
B) Death rate
@mLiy N SLD
C) Biotic potential
o uilgLiLy @mer
D) Kinetic potential
Qussg Fmer

Correct Answer :- C) Biotic potential

130" Which one of the following is a wrong statement ?
BLH(HUGTOUD DIGIT 615 FaUDTET FnDmI 7

A) Ozone in upper part of atmosphere is harmful to animals
e _ev CopL@Gulled sretLiL@®w GFraT LL_inTesTd ailevnl % @%@ $ml@ allanaralsFng)
B) Green House effect is a natural phenomenon
Ldans oL (H allenarey 6TaTLIS 6@ (h Q) UDENHWITET BlSHLHa)
C) Eutrophication is a natural phenomenon in fresh water bodies
Bideowsar 2 ey Qaflay asiiLig 9@ @upmsunar Hape
D) Methane and Carbondioxide are green house gases

183G 6T LoPpmILd STFLGT oL YEMF(D G UTUSH6T LFenF af () 6UTwSHHaTTELD

Correct Answer :- A) Ozone in upper part of atmosphere is harmful to animals



131 During transcription, the DNA site at which RNA polymers binds is called :

L grestev &) flLiFeT eTasimiid BlasLpadlest GLing) 1q. 616 a—60 9y 0. 616 67. LITeSoGrad (Q)enenTaug) :

A) Receptor
Cumps

B) Regulator
PUESGLBSH

C) Enhancer
et

D) Promoter

peTGeTmig

Correct Answer :- D) Promoter

132 Milk powders can be produced by this method :
umrevOlLmy Qs wepulled swrfssLiLGS D ?

A) Heat drying
2 i GleuLiLid
B) Spray drying
2 o GlgaflLiny
C) Air drying
2 j STOHM]
D) None of them
Qauppier azieea

Correct Answer :- B) Spray drying



133 Culture of aquatic organisms in water containing high salt content is :

2YBs 2 LiLyg saienin Csment Biled B eurp o ulfeImISemar UTiSGL (LpeOD

A) Coastal Aquaculture
segQuimy B eueriLiLy
B) Offshore Aquaculture
SYLPFHL_GO (b eUTHLILY
C) Metahaline Aquaculture
O’ rCameevat B cueriLiLy
D) None of them
Qeupnier 15/ Llevemev

Correct Answer :- C) Metahaline Aquaculture

134 Cardiac muscle fibre is made up of :

QBW FOF BTIHOT QST 2,68/

A) Myoglobin

w10 Guir@Garmiiar
B) Myosin

e Lo Guwimd eor
C) Myofibrils

o Guwimosem L9 fleden
D) None of them

@ ewau egiLflevenev

Correct Answer :- C) Myofibrils



135 @avuiu@sms o ewisgib o areoivsar 615 met ?
A) Breg
B) epaimy
C) Qe
D) @53

Correct Answer :- B) epeirmy

136 Liggyuium” @er oypmitiLien mredser e1gsemer ?
A) epasini
B) e (®
C) 2o

D) &pg!
Correct Answer :- D) aopgy



137 s@ewnblissnsow ereraih @)evsLi Guflovsdsent Brene
eTpBweud wmg ?

A) Gaugprws stav@fwmi

B) sGiomes L9080 Licsg S
C) GeugpmwsLd airenar

D) &1 H0lase

Correct Answer :- B) sehons o1908mbd LiessTig &

138 151 Qomps s1658 eraiiayih mrevev erap@uwers wmg ?

A) seofl GLog maflwimg
B) LDGIGH TS Fnl_QUTTHLP T
C) Qumuiensw Ty

D) & THW TFTGET

Correct Answer :- B) srflwmsnesr



139 $5510CLTSSHT TLPPI 2 G TBEL_ BTV WIS ?

A) GouBus pupsat

B) @news Gsmuied

C) s Bliewiuid

D) BB@ems Suinar oreme

Correct Answer :- C) <810 fliewmrwiLd
140 WTTHSGITT 6TGTLICUTTE T(LPSLILIL L Q)eVSHHET B 615/ !

A) wrbuGRSSE STilas
B) afgGamflwid
C) ywLiGluner CeuewtLimoTEn eV

D) SGOITLY ULIGVBISH TTLD

Correct Answer :- C) ypLiQur@meT GleuewrLimomenev



141 smigid Bnieds s101) cuenid®s@s QO smesr_mpplw Fwesd wrg ?
A) wEGIEES)
B) p&&a5
C) @ormiGsraiysar

D) &pso0

Correct Answer :- A) audSrpEs

142 Qruiged Gevawrs@iw Py QO uimps wrgy ?
A) WG
B) @arGaefled

C) algwa

D) Lomeev

Correct Answer :- D) wrewev



143 g pavsaus SL0LHG Qs newi_[ eTeiLd Bredlesr oL@ Muwig wimg ?

A) Gaugprwsid Lerenar

B) H.A. & @ayewr Derenar
C) gm.9. GagiLi aremar

D) erev. eweuwimyfiii 9erenar

Correct Answer :- C) gm.9. GagiLi larener

144 '@ asflenouyid Bienioujid SLO6)LPET WTEGLD TR FnmiLh BTGV :

A) wefGoseev
B) & LD LIJTLD W GSSTLD
C) Umspams

D) tGarreroamfiib

Correct Answer :- C) 9mswEams



145 sevi_d smisid @Q)BBs @)L 1b e1g ?

A) O\ &1 LogIeD T
B) sumygib

C) auL pgiemr
D) @ GaumigL Lo

Correct Answer :- C) auL_ wogieog

146 @pa@peamaerd Qe QurHuled QumHOLwissed wri ?
A) gL g. @f.y. Gum
B) QOLITL Fewall Fi
C) IR A )

D) af Lo m(Lpevfleu s

Correct Answer :- C) snged &gre

147 BTG ITSSHTLOGDLOWITH LIMLG W BTGV WG !



A) Sweuneni wpibehls Gamenau
B) Sy el LoesilLomen 6V

0) B (BSS TGHTL_HLD

D) S@GaumuiGlomy

Correct Answer :- B) @@ailgL enL oessilomemev

148 BrEQuTg 6w mflevw s Lmgweid wrg ?

A) @@Lomieswmpani

B) pewrmer

0) GCFHITH T

D) O\ et m1q L16) L Mg wimLp eum

Correct Answer :- B) sy esor_mair

149 '"Bloben g sreuevd 1Dl SjewpsBLILIBLIGUT wrh ?

A) Cugr@fw i

B) G WITHS S BT

0) @ empwesmi

D) uflGoevips i

Correct Answer :- B) <jqunig@ pevevmg



150 wpaer wseled Garambu sssib a1z ?
A) Ognedrent_ e FHFLD
B) 8®sss5L0
C) C&MmIE e F55LD
D) BbS LOGRTL GV FHFHLD

Correct Answer :- B) @wdsssid

* Indicates all the options are incorrect, marks will be awarded for the respective questions during the evaluation.






